Chapter 4
WORKSHEET

. Fill in the blanks.

1.
2.

3.
4.
5.

is used to run a block a particular number of times.

is where the sprites perform, move and interact
with each other.

The default sprite is a :
The block is known as a loop.
The block is a Control block.

Il. Write True or False.

1.
2.
3.

4.
5.

Scratch was developed at MIT.
A sprite is rigid and no action can be performed on it.

Various instructions like move, rotate and play music to a sprite
are given by us.

The forever block runs the block over and over again.
The first test version of Scratch was released only this year.

lll. Find seven words related to the Scratch program in the given
grid.
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